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N.[NMecTtanouue



3afaHune

1) Bbluncnure:



2) Hanaure:

a)0,5 ot 4
6) % ot 10
B) 1% ot 20
r) 0,4 ot 0,2
,u,)i oT 1

e) Z ot 100



3agauun Ne 492, Ne 493, Ne
494



PeweHue:
No492

140 - 0,8 = 112(cTp) — npoumTtan Anewa
No 493
_140-4

140 - - - =112 (cTp) — npoynTan

BOHOAH

No 494

80% =0,8

140 - 0,8 = 112(cTtp) — npountan Makcum




Ne 490 (ycTHO)



3agaya Ne 498 - CAM!



PeweHue:

1) 72 - 2 = 60 (pnc) — BbINONHEHDI

aKBapesblo

2) 72 — 60 = 12(pwnc) — ocTtanbHble
3)12 - 0,25 =3 (pnc) — BbINONHEHDI
KapaHaalwom



Ne 505



PeweHue:

1 2
1) 1- 5=3 (4acTK) — KHMUTK ocTanoch

NPoOYUTaTb NOCNE NEePBOro AHA

2 1 1
2) it (4acTb) — KHUIM Npo4YUTana
Npa BO BTOpPOU AEHb

1 1 3 1
3) - + —=—==(4acTb) — KHUTWK

3 6 6 2

npoymnTtana Mpa 3a ABa AHA



LHomawHsisi paboma:

n.14 (3HaTb NpPaBwuIo),

Ne 536, Ne 539 (B)



